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PART A — (10 - 2 20 ma1ks)

~What is dlstmbuted system‘?

2. What are the three main standard technological components of Web?
8 Compare'RMI wiéh RPC. | o | |
4 : : _-'-What is meant by marshalhng and unmarshalhng‘?
B . What is the need for pee1 -peer 1n1ddlewa1e system" 3
. -:-.'-“What - LDAP‘? RE _ . S
7 ) Why is computel clock synchrqni_zia_t.ion __nec.es‘sa_ry__? R S
8 'What is phantom deadlock‘i‘ R
9. _ ] Diffelentlate between load balancmg and IOad shaung approach for schedullng
: -pmcesses : : ‘
10.° _Wha_t al_'e the benefits of process_migration in di_s_trib_ufed systems? B
u  PARTB — (5 x 13 = 65 marks)
11, (a_)j 'Deecribe t_he trends in the distributed sys_t'ems in_ de.tail». | o : (13)

- _(b) Discuss the major issues in distributed systems. o (13)



12. (@) What is overlay network? Explain types of overlay in detail. (13)
Or _
(b) () What is group communication? Give any two key application areas
' of group communication is distributed systems. A (b)
) Bxplaii the iole of | ploxy and skeleton i venmote method invoeegtion, -~ 7
(8)
13. (@ @ . lefelentlate IP and ovellay 10ut1ng for peel -to- pee1 apphcatlons
: (7)
(i) Expla_in file service architecture in detail. - (6)
Or _
by @ . How does AFS ensure that the cached copies of files are up-to-date
.- when files may be updated by several clients? - : Y
(i) ~ Explain the Pastry’s routing algorithm. i o 9
14 (a) Describe Maekawa’s algorithin for mutual exclusion.ﬂ (13
_ s Or
(b) Give the distrlbuted algouthm for deadlock detectlon and Hlustrate with
an example. _ (13)
15. (a) Diécuss about the issues in design load balancing algorithms. ' (13)
- Or | _ _ .
(b) ~Describe the issues in designing thread packages.- ~  ~ (13
PART C — (1 x 15 = 15 marks)
16. - (a)- In the ring-base election algorithm, tWo or more processes may almost
- simultaneously discover that the coordinator has crashed and then each
~ one may circulate an election message over the ring. Although this does
_ not cause any problem in the election, it results in waste of network
.~ bandwidth. Modify the aigorithm 'so that only one election message
circulates-completely round-the-ring-and-others- are: detected and kllled as
_ soon as possible. o _ : : )
. Or
(b) In client server model that is implemented by using a simple RPC

~mechanism, after making an RPC request, a client keeps waiting until a

reply is received from the server for its request. It would be more efficient
to allow the client to perform other jobs while the server is processing its
request. Develop a mechanism that may be used in this case to allow a
client to perform other jobs while the server is processing its requests. -
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